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Set   T1 : Card  6 out of 10





Set T1   : Card    4  out of 6





Set T1   : Card   1 out of 6
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In the triangle ABC, 


� EMBED Equation.3  ���.


The point X lies on BC and is such that BX : XC = 1 : 2.


 


Find, in terms of � EMBED Equation.3  ���and � EMBED Equation.3  ���, the vector � EMBED Equation.3  ��� 





Find a vector equation that passes through the points A (2,3,2) and B (4,-1,-2).





Find the position vector of the point of intersection of 
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Find a vector which is perpendicular to 


� EMBED Equation.3  ���





Find a vector equation of a line which passes through the points with position vectors 
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